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PART-1

MATHEMATICS
1. The fraction represent the following fraction 1%@3%%@% %?
is -
) )
(A) 1/4 (B) 1/2 (A) 1/4 (B) 1/2
(C) 1/8 (D) None of these (C) 1/8 (D) PIs Tl

® © O,

® © ®

2. 9+[6+7 of 3 —(9+2-6-+2)]

2. 9+[6+7 BT 3 — (9+2-6+2)]

® © ®

(A) 25 (B) 26 (A) 25 (B) 26

(C) 27 (D) 28 (C) 27 (D) 28

® © ONNIO © ®
3. Which of the following is a fraction 3. Fafafea A} wa @ fim 2/3 %W’g’@
equivalent of 2/3? 82

(A) 4/5 (B) 8/6 (A) 4/5 (B) 8/6

(C) 10/25 (D) 10/15 (C) 10/25 (D) 10/15

® © O,

4. Which of the following are like fractions?

PR GO R KR R R E K R 1 Ko

® ©  ©

(A) 3/5,3/7,3/11,3/16 ® (A) 3/5,3/7,3/11, 3/16 ®
(B) 5/11,7/11,15/11, 2/11 (B) 5/11,7/11,15/11, 2/11
(C) 2/3,3/4,4/5,6/7 © (C) 2/3,3/4,4/5,6/7 ©
(D)  None of these © (D) ﬁ"scv_—l—@p[ ©
5.3/10 is equal to - 5. 3/103?13?%—

(A)3.1  (B) 1.3 (C) 0.3  (D)0.03 (A)3.1  (B)1.3 (C) 0.3  (D)0.03
® © © ® © ©
6. The value of 3/25 is- 6.3/25 Tﬂ'ﬂT-’-l%—

(A) 1.2 (B) 0.11 (A) 1.2 (B) 0.11

(C) 0.012 (D) None of these (C) 0.012 (D) ﬁ?f-‘-lﬁ

® © ®

7. 2.5 +3.05-4.005 is equal to -
(A) 1.545 (B) 1.455
(C) 1.554 (D) 0.545

® © ®

7.2.5+3.05 - 4.005 SRTER © -
(A) 1.545 (B) 1.455
(C) 1.554 (D) 0.545

® © _©

8. Which is greater among 2.3, 2.03, 2.33, and
2.05?
(A) 2.3

®

(B) 2.03

(C) 2.33

©

(D)2.05

O,

8.2.3,2.03,2.33 3T 2.05s H A B TSI 8 ?

(A) 2.3 (B) 2.03 (C)2.33 (D)2.05

® © ©




9. The angles of a triangle are in the ratio

9. T YT F PI011:2: 3F UG H 8 |

® © ®

1: 2: 3. The measure of the largest angle is Y IS BT BT AT 8-

(A) 30°  (B) 60° (C) 90° (D) 120°|(A) 30° (B)60°  (C)90°  (D)120°
® © ® |® © ®
10. If 5: 4 :: 30: x, then the value of x is 10. qﬁ 5:4::30: X, ?ﬁxEﬁT'FIFT%-

(A) 24 (B) 12 (C) 3/2 (D) 6 (A) 24 (B) 12 (C) 3/2 (D) 6

® © O,

11. The first, second and fourth terms of a
proportion are 16, 24 and 54 respectively. The

11. fo<ft 3rTuTd 1 UEan, gORT R NUT UG
PU: 16,24 3R 54 B I TRRTUS B -

® © ®

third termis - (A) 32 (B) 48 (C) 28 (D) 36
(A) 32 (B) 48 (C) 28 (D) 36 @ @ @
® © ©

12. Perimeter is measured in 12. GRHTT &I ﬁﬂTCIT\_rI'I?IT%I

(A) sq units (B) cm units (A) T STl (B) T SHISAT

(C) cm (D) given units (C) Tt (D) S TS SHISAT
@) © ® |® © ©
13. Perimeter of rectangle is- 13. 3™Ad ?ﬂqﬁTITCI%

(A) 2(l+b) (B) Ixbxh (A) 2(l+b) (B) Ixbxh

© 2(ixb) (0)  2(-b)2(I-b) (C) 2(Ixb) (D) 2(I-b)2(l-b)

® © O,

14. Give expression for 25 added to r.
(A) 25+r (B) 25—-r
(C) 25r (D) None of these

® © ®

14. r H 25 SIS TR ToI® SIford|

(A) 25+r (B) 25—r
(C) 25r (D) None of these

® © ®

15. Number of matchsticks required to make a
pattern of “U” -
(A) 4 (B) 5 (C) 3 (D) 6

® © ©

15. “U” BT Ue 9 P foIT STazgs ATR"
31 Aferat B H=a -
(A) 4 (B) 5 (C) 3 (D) 6

® © ©

16. What percentage of 4days in 6 hours?
(A) 5-% (B)3:% (C)6;% (D) 4%

® © ©

15.6ﬂ%ﬁ4ﬁq$rmmuﬁmaﬁm%?
(A) 5&% (B)3; Log (C)6i% (D) 4%%

® © O,




17. What is the simplest form of the ratio 17. 3JUTd 144:28 WWWW%?
144:28? (A) 28:4 (B) 36:7 (C) 7:36 (D) 1:2

() 284 (B) 36:7 (736 (012 |(R) © ®
® © ®

18. 6: 4 is equivalent ratio of . 18. 6:4 EBT'Q'FHGI-';[QTH%I .
(A) 32 (B) 23 (C)1:2 (D) None |(A) 32 (B) 23  (C) 12 (D) TS T

® © ® |® © ®

19. How is the decimal number 9.6 read? 19. GRHAd IHEAT 9.6 ﬁ%\ﬁmm%v
(A) Nine six (B) Nine dot six (A)iﬁﬁ@t (B) gmg
(C) Nine point six (D) Nine six tenths (C) I GRTHAT - (D) A1': MR
® © © |® © ©
20. CONVERT 1 HOUR INTO SECONDS. 20. 1 9¢ Bl G s A 94 |

(A) 3600 (B) 60 (C) 216000 (D) 1440
(A) 3600 (B) 60
(C) 216000 (D) 1440 @ @ @
® © ©
21. Which of these makes a whole? 21. Eﬁﬁﬁqwm%?
(A) One half (B) Two halves (A) Uep SHTET (B) E‘P[ 3T
(C) 3 halves (D) 5 halves (C) 3 &0 (D) 5 3

® © ® |® © ©

22. What fraction of an hour is 40 minutes? 22. @ﬂ%iﬁﬁlﬁﬁm HIT 40 ﬁF-IE'%? .
(A) 1 8)1/3  (C) 2/3  (D)None |A) 1 (8)1/3 (02/3 (D) PIs TEl

® © ® |® © ©

23.A is a collection of numbers 23. WW%%WW@H
gathered to give some information. HET3HT BT T ¢

(A) Frequency (B) data (A) ﬁ” il l (B) STl .

(C) tally mark (D) None (C) f%l_é (D)aﬁg:‘ﬁ

) © ® |® © ©

24. The side of a square is 8 cm. If its side is 24, T 91l Bl HoIT 8 '\Q’lﬂ%I gfe gaP! HTrITﬂ'ﬁ
doubled, then its new perimeter is . 3.|!I"'II Wﬁmﬁql ST, ot $9&T 41 AT
I

(A)48cm (B)32cm (C)40cm (D)64dcm |—
(A)48cm (B)32cm (C)40cm (D)64cm

® © ® ® © ®




25. What do you call the total boundary
length of a closed figure?

(A) Area (B) Volume

(C) Perimeter (D) Region

® © ®

25. fdt 9 Spfa 1 pa ATHT daT8 B MU
T HEd 82

26. What is the amount of surface enclosed by
a closed figure called?

(A) Volume
(C) Space (D) Perimeter

® © ®

(B) Area

(A) 8T (B) 3T
() TRATg (D) &

® © ©
26. forelt 5 THfa GRT R T Tag D AT
P FT H8d &7

(A) ST (B) &
(C) I (D) GRHTY

® © O,

27. The side of an equilateral triangle is

27. HHATE FAYS B Yol s gRT 1S TS 2

shown by s. express the perimeter of the W@ﬁﬁﬁmw s BT YA HIP o
equilateral triangle using s. G2l .
A) 33 (8) 25 (C)s  (D)None % 3 2 (CE))S (D) gé:rgﬁ
28. If the cost of 6 cans of juice is Rs 210, then | 28. afde %quqm 210 wﬁ%, draHa
what will be the cost of 4 cans of juice? [H BT e T gRI?

(A) Rs 140 (B) Rs 280 (A) Rs 140 (B) Rs 280

(C) Rs70 (D) None of these % Rs 70 . g ﬁg:‘ﬁ@
29.437 x 102 = 29.437 x 102 =

(a) 45,584 (b) 44,574 (c)54,544 (d) 46,874 (a) 45,584 (b) 44,574 (c) 54,544 (d) 46,874

® © O,

® © O,

30. Write as decimals: 300 + 5 + 7/10

(A) 305.7 (B) 305.07
(C) 35.7 (D) None of these

® © ©

30. XMAAd & ¥U A ford: 300 + 5 + 7/10
(A) 305.7 (B) 305.07

(C) 35.7 (D) PIs T8l
® © ©




PART-II

SCIENCE
1.Which of the following is necessary for 1.ﬁ9ﬁ1®aﬁﬁﬁ=rmwﬁ (qe-) %i%nz
burning (combustion) ? W%?

(A) Oxygen (B) Petrol (C) Carbon (D) Nitrogen

© ®

(A) STRISH () USIA (C) HTaA (D) AT o

® © O,

2.If your diet is deficient in vitamin A then you z,q‘% 3T Wﬁﬁ?ﬁﬁqﬂﬂﬂﬂﬂ%?ﬁ
are supposed to suffer from 3! 399 Hifsd giAT anfge-
(A) Rickets (B) Beri Beri (A) Rabeg (B) S
(C) Scurvy (D) Night blindness 3 T¥sht

(C) (D) |
® © ® @ © ®
3. Which part of the body receives 3. YRR BT DI I mqfwrﬁvﬁ@maﬁm
messages transmitted by nerve cells located SIRrPT3M gRT AT S U HIaT 2?2
throughout the body ? (A) 2T (B)Ththe  (C) ARTS® (D) gohd
(A) Heart (B) Lungs (C) Brain (D) Liver
® ©
4. Which of the following joints is present 4. ﬁ'g ﬁ'ﬁﬁ'-‘-l’ HT\‘:ﬁ'S’\‘:ITE[HﬁB'gf Gﬁ?ﬁ'@?ﬁ
between thigh bone and shin bone? aﬁg@ﬂ;ﬁa:ﬁﬁggﬁﬂ'{%‘)
(A) Hinge joint. (B) Pivot joint (A) RIS (B) fUge Jie|
(C) Fixed joint. (D) Ball and socket joint ©) @R\_rﬁgl (D) &Ta 3R {-ITSPC e

® © O,

©_ _©

5. Spot the energy conversions that take place in
a torch:

(A). Chemical — electrical — light

(B). Electrical = chemical — light

(C). Electrical — heat — chemical

(D). Light — chemical — electrical

® © ©

®

5. C1d | 819 aTd S>ell I™UTdRUN &l UgdmA:
(A). IS > faggd > UH

(B). faggd - RS > B

(). faggd - ST > IS

(D). TehTRT = IS - faggd

® ©

©

6. Select the INCORRECT match from below:
1. Anaemia - Weakness.

2. Rickets - Tooth decay

3. Scurvy - Bleeding gums

4. Beriberi - Decreases muscle function

(A). 2 only. (B). 4 only

(C). Both 1 and 2. (D) Both 1and 3

® © ©

6. -Itd A Terd e g4

1. T - HHR |

2. Ry - qldf 1 ged

3. Whdl - UYS A G 3T

4. SRS - AU @) HrRferdr HH 8 Sk 8
(A). A 2. (B) Had 4

(C) 1 3R 2 g (D) 1 3R 3 &Y

®) ®

©

7. Identify the missing parts P and Q correctly in 7. ﬁquﬁaﬁf ﬁq&r HIT P aﬁ? Qa-ﬁ qé’r
the given flow chart: e A UgHM:

Fiber =P = Q BIER > P->Q

(A). P-Yarn, Q - Fabric (B) P - Fabric, Q - Cloth (A). P-ﬂﬁ,Q-W (B) P-W,Q-m

(C) P-Thread, Q- Yarn

®

(D) P - Cloth, Q — Thread

© O,

(C) P - YR, Q - TH

®

(D) P - HUST, Q — YTl

© O,




8. Which among the following pairs are not

8. fFrafafEd # 4 14 9 S suRad-

irreversible changes? TRadT a8 82
1. Dissolution. 2. Rusted iron nails | 1 fyge= 2. ST &Y Alg Bt pId
3. Baking a potato. 4. Freezing water 3. 3T U 4. Tt BT STHAT
(A) 1and 2. (B) 2and 3 (A) 131X 2 (B)2 3R 3
(Ccéla”dll' © (P) 3and<;> (C)1 3R 4 (D)3 3fR 4

® ©) ®)
9. Which of the following method will Sarah use 0. H‘RT‘FRIR'WQ ‘l-ﬁ'ﬁ-ﬁ'ﬁ w, Eﬁ%
at home to separate husks, small stones TR aﬁvﬁg’fﬁ;wtﬁaﬁ maﬂﬁa?ﬁnz
and earthy materials from a bowl full of pulses? | ufRfREa & | fFw At &1 Iy i
(A) Threshing. (B) Hand-picking | ») Offay| (B) €T T AT
(C) Sieving (D) Winnowing | () et @ w1 (D) el

® © O,

® © ®

10. In the following question, an assertion and a
reason are given. Choose the correct
option:

10. FFruferfad vy 7 vep sifiey iR T&
SR faaT T 31 T8} faweu g
SFHBY: TS TH HUSI I & [ YN & Gl

Assertion: Knitting is the process of a;ra)nging two @ﬁaﬁwwum@maﬂﬁﬁmél
sets of yarns together to make a fabri(C FTT: ST =\
Reason: Knitting is exclusively used to make W%%E%W;m AREEAILE
woollen garments. N .
(A) Both assertion and reason are true and reason (A) SHTHHYU 3?'? RANICIRIN S % B?IT PIRUI
is the correct explanation of assertion. &IT\WQHWG_EQIW@W\UT\%I )
(B) Both assertion and reason are true and reason | (B) B YT SR HRUIGHI T § 3R BRI
is not the correct explanation of assertion. W%WW@WW?@%I
(C) Assertion is true but reason is false. (C) 3HHYT I % cifop T BRI TTeTd %I
%BOth asser and reasc&sre false. @ (D) 3MTUHYT 3R BRI G TeAd 5 |

® ©
11. Which of the following statement is 11. Mo ﬁﬁq&" MYP dcdl & Gao A
INCORRECT related to nutrients present in food? | fogferfad & q &I A1 HYF Tad 82
(A) There is no loss in vitamins if fruits and (A) Wl @qqﬁyﬂ;ﬁaﬁ INERIEIRCED S| Sic
vegetables are washed after peeling or cutting ﬁﬁaﬁqﬁaﬂéaﬁﬂ‘sﬁsﬁ?ﬁél

them.

(B) The skins of many fruits are rich in many
nutrients.

(C) Cooking kills most of the nutrients present in
foods.

(D) Rice and pulses will lose their vitamins and
minerals if they are repeatedly washe(D)

(A) Aonly (B) B only

(%B) Pe Bl & [SAb B UG ddl J HRQR 8Id
|

(C) @M UHH I |1 Uerdf § Hiv[g I
Y% dd AV Bl S & |

(D) TTTd 3R T ! TR-IR & T ITh
faerfem ek @ e Ty g o |1
(A) Bad A

(C) A 3R B & (D) B 3R C GIHY

® © ®

(B) Had B

(C) Both A anda (D) BothBand C
® (& ©
12. In the following question, an assertion and a
reason are given. Choose the correct option:
Assertion: Primary cells can be recharged but
secondary cells cannot be recharge(D)

Reason: Chemical reactions involved in primary
cells are irreversible and in secondary cells

are reversible.

12. FfefEd vy A ve Sfiey= ik o Rl
e man 81 9t fawea g4

TP Y. UUfis I &I Rarst far s ghdi 8
dfep fgdias Od o1 s gl foran s gar|
HRUT: Ui I & Tid T sififang
3aRad-a gidt & 3R fgcfiaes o § ufdad gidi 21




(A) Both assertion and reason are true and reason
is the correct explanation of assertion.

(B) Both assertion and reason are true and reason
is not the correct explanation of assertion.

(C) Assertion is true but reason is false.

(D) Assertion is false but reason is true.

® © O,

(A) THBHYT 3R HRUI S T & 3R BRI
HBYT B Tet AT |

(B) SMHBHYUT 3R BRUI GIHI T & 3R BRI
A HHYT B! et TR T8l 8|

() SMfHYT I B AP HRUI T B

(D) 3IfHHYT 3T § AfhT PRI AT B |

® ©

O)

13. What is common between the following ﬁgﬁ‘@aﬁ&mﬁﬁwmév aﬂ:ﬁﬁ?

symptoms? Poor vision, loss of vision in darkness g@ 3R A =P BT HaWR g1 3R dl-Hft

and sometimes complete loss of vision g@mwmﬁw 33[ SIGH

(A) These are the symptoms of the deficiency of (A) I et (A) ﬁﬂ%a&m%

vitamin (A) et :

(B) These are the symptoms of the deficiency of (B)g o (€) aﬁa;;ﬁ ?g&‘fm% .

Jitamin (O (C) T WIS 3R P HH] FT&‘FUT%I.
(D) A WA SIS ) B b eI g

(C) These are the symptoms of the deficiency of
the mineral iron.
(D) These are the symptoms of the deficiency of

the mineral iodine.
® © ©

® © O,

14. Three students gave the following statements

during a classroom discussion. This is what they

said:

David: The motion of a vibrating tuning fork

exhibits periodic motion.

Nora: The blades of the fan is said to move in a

rotatory motion.

James: The length of the footsteps is the same for

different people.

Which student(s) made incorrect statement(s)?

(A) David and Nora (B) Nora and James
©

14. BT H I4T P SR o9 O] A Fafarad
Sy f3uI ST S PeTaRIT o

SfaS: U B arel g1 Bidh b1 Il
3fafire Tfa e 21

ART: U9 & se1s gulf 1fa & Ted § | SR 3e-
AT @NTl & o WRi & A= ot daTs IHH Bidl
2| fpg sE/amel A Tad ®yH fear

(A) SfIE 3R ART (B) R 3R 9IFg
(C) Pad o g (D) had S[AS

® O,

©

(Qi)DJames only. (D) David oqr;l)y
(®)

15.Milk turns sour when kept outside for a long

time. What kind of change does it depict?

(A) Irreversible chemical change

(B) Reversible physical change

(C) Irreversible physical change

(D) Reversible chemical change

15. GY I Gd GHY AP qTgY 7@ UR 8 Wl ol
wTaT 8 | 9% frd v & ufvad- 3t g=ifar g2

(A) f

IgaAE gikddH
() ufaradf Wifae ufkad=

() 3ruRkad=1g Hifae ufkad=
(D) ufaadt ImafA® ufada

® © ® ® © ®
16. Which of the following pairs are wrongly 16. Fofaf@add s = A g ITdd e A
classified? Tiffepd fPT e 32

M: Nitrogen - Takes up four-fifths of the air space
N: Oxygen - End product of photosynthesis

O: Carbon dioxide - Production by factories

P: Smoke - Produced by plants
(A)Mand N

(C)MandP

®

(B)Nand O
(D)Oand P

© ®

M: TTSEIST - a1 I T 4/5 HIT IRAT S
N: TS - U1 TRAYUT & 3ifaH IdTg

0: BT SEIAHHES - HRIM! gRT ST

p: Y37 - TTell GRT IaIfad
(A) M 3R N (B) N 3R 0
(C)M 3R P (D) 0 3R p

® ©




17. Answer the following question and choose
the correct option:

In which direction does the bar magnet come to
rest when suspended freely?

(A) South-west direction (B) North-east direction
(C) East-west direction ~ (D)North-south direction

® © ®

%ﬁaﬁr@awmw%aﬁ?ﬂﬁﬁm

SIS B Ja® BI Wad U J ACHAT oIl § dl

g8 fpa fen A vhdr g»
(A) cfemor-ufge fe=m (B) STR-Jd fa=m
(c) gd-uf2r femm (D) FTR-afeur fa=m

® © ®

18. Which of the following statements is
INCORRECT?

1. By eating only vitamins, we cannot remain
healthy.

2. By eating proper roughage, we can prevent
anaemi(A)

3. Milk is regarded as a complete foo(D)

4. Fat is not at all necessary for good health. It
causes obesity only.
(A) 2 only

(C) Both2and 4

®

(B) 3 only
(D) Both1and 3

© ®

18. fFrferaa & @ &9 AT &Y= Tad 272

1. Had fdeTB W 4 g9 W g1 3¢ Johd |

2. 3 I @A I §H TR &1 A b & |
3. QY P! IYUf YIS AHT ST B |

4. 3w WA & ot o faegpa Wi Sira=geh -G
2| U8 Had Hic &1 HRUI ST 5 |

(A) had 2 (B) ®dd 3

(C) 2 3R 4 I (D) 1 3R 3 &

® O,

©

19. Refer to the given figures and select the 19. feu U e Bt ¢ 3R 3% IR A TTaq
incorrect statement regarding them. asqqgﬁ [——— ¥ (
IO, o) VAN
‘/"",{/I g‘.‘):{\:‘ AR S W X g, 7
Ak (/ 2 . .
% X v z (A) 3TH 3R [SEA & TeN H W THR B oS 3R ¥

(A) Mango and Hibiscus plants have W type of

TSR oI Ufar gl 8|

roots and Y type of leaves. (B)éﬁﬁ?ﬂﬁ%ﬁ%ﬁﬁYWﬁW@?ﬁ%l
(B) Banana and palm plants have Y type of leaves. (©) ﬁﬁﬁw%ﬁu‘rﬁx Wﬁﬂ@@?ﬂ%l
(C) Wheat and maize plants have X type of roots. (D) S ﬁ?W%ﬁﬁﬁZWﬁWm
%Neem and e plants havCCeDZ type of Ie%s. %I

® © ©
20. Which one of the following plants has the 20. ﬁyﬁr@aﬁﬁmﬁﬁaﬁﬁgﬁmﬁ?ﬁ
fibrous root? %?
A)Wheat. B) Paddy. C)Bamboo D)AIl A) TR B)YT C)srg D)a gt

21.Which one of the following gasses can plants 21. FFgferfaa ﬁ'\&ﬂ’iﬁ It ﬁv D] HTEFIEF[ I
not absorb directly from the atmosphere? MY SaMNT TS PR AP 22

A) Oxygen. B) Carbon dioxide (A) ST | (B) BT SZAHTRITZS |
%)Nitrogen. D)@)A)II of these @ (C) ATSeIoH | (D) T g+

22. In which one of the following there is no 22. ﬁyﬁf@aﬁﬁﬁmﬁfﬁgaﬂwﬁraﬁﬁmﬁ
change in the direction of movement of the FIS yRad A1 gl 82

body? (Ayguff i BEIEIRERIG]
A)Rotational motion. B)Periodic motion (CRfFeferf R ifa EEIREIIG

D)Curvilinear motion

© ®

C)Rectilinear motion.

®

® © O,




23. Which one of the following group of plants 23. ﬁgﬁr@aﬁﬁmlﬁﬁwrﬂﬂm
has the life-span usually less than one year? MR R U 94 A HH a1 22
A)Herbs B)Shrubs C)Trees A)STSIgET  B) sifsal ous  p) g

%II of these @ @ @ @ @

24. The standard unit of length in the Sl system is: | 24. WMﬁmﬁWWﬁ%
A)cubit B)Inch. C)Meter D)Centimeter | A) Ffdc (B) 39 (C)Hlex (D) JétHier

® © ® ® © ®

25. Which one of the following is an example of 25. mﬁﬁﬁwmﬁfm
carbohydrates? 3ISIER0T 2?2
A)Glucose B)Fructose A)lqgﬂry[ B)Wﬁ[ O™ D)3 gt

C)Starch D) All of these @ @ @
® © © _ _
26.Which of the following does not belong to the | 26.fFgfeifaa A @ P IRASd & UTRAR

family of solar system? Tafraagi a2
(A) Planet (B) Galaxy (A) T8 (B) SHTHTRIA
(C) Meteors. (D) Comet (C) SIS | (D) W

® © ® ® © O,

27. Which planet has the largest number of 27. m%%mﬁaﬁmm \3{&@%?

satellites? (Agewfd  @)™E (9 (D) HIA
(A) Jupiter (B) Saturn @

(C) Mercury (D) Mars

® © ©

28. Which star is nearest to Earth? 28. aﬁqwquﬁ%mﬁw%?

(A) Pole star (B) Cassiopeia (A) 4d dRT (B) Higsnfuan
(C) Orion (D) Sun (C) 3Mif¥a (D)

® © ® |® © ®

29. Which of the following is not a product of 29. ﬁ'&lﬁl‘@ﬁﬁﬁﬁ? SISt BT Jdlq qﬁ%”
excretion? (A) BT SRS (B) STl
(A) Carbon dioxide (B) energy (C)HA (D) T

(Qi)Durine @D) sweat @ @ @ @

30. Which is not a requirement for germination of | 30. AP G@W%ﬁm G)EIT-[ M IRl T-Iﬁ
e

aseed? ,

(A) favourable temperature g (A) SJhd dIYHIT
(B) light (®)| (B) UPT

(C) fertilizer @ (C)

(D) sufficient moisture @ %mﬁw @ @

Space for rough work




PART-III

ALL ABOUT INDIA
1. What is the purpose of a map? 1. mﬁama%mw%v
(A) To show the weather (A) ArTH faar

(B) To represent an area and show how to get
to different place

(C) To show the names of countries

(D) To list historical events

(8) ol &1 o1 UfcAferea T SR fafdrer R
do Ugd- Bl aid] [G@HI

(C) <=1f & T fear

(D) RfcRTRIP Tesil B Geliae e

® © ® ® © ®
2.What do the four arrows at the top right of a | 2. mﬁa%nﬁﬁm{ 3R YT IR TR T
map represent? Eﬂﬁ%’

(A) Landmarks (B) Cardinal directions | (A) ®IAIg (B)H'@IE'QIT&
(C) Symbols (D) Scale (C) Udt (D) THMT

® © ® ® © O,
3. Which of the following is a type of map that | 3. ﬁaﬁr@aﬁﬁaﬁﬂmmﬁam
shows natural features like mountains and ﬁﬁw&ﬁﬁﬁm Gﬁ?maﬁm%
rivers? (A) ToTHIfa® AFfE (B) Wfae AR
(A) Political map (B) Physical map | (c) fawged A= (D) TS AN

(C) Thematic map

®

(D) Road map

© O)

® © O,

4. Who have found the evidence of ancient 4. UTN= fear ﬁ?ﬂ?ﬂﬁ’f%ﬁ&ﬂmﬁ
farmers and herders? tﬂt{%'?

(A) Archaeologists (B) Astrologists (A) Wﬁ?{ (B) Sfaufdg

(C) Biologists (D) Historians (C) (D)

® © ®

® © O,

5. Name the animal who gives us milk.

5. 3 WTHaR T HTH §a1sU o1 gH gU AT

(A) Cow (B)Sheep  (C)Goat (D)All | (A)T (B) VS (C) B (D) gt
© ® ® O,

6. A year with 366 days is called 6.366 ﬁﬁmﬁaﬁaﬁﬁ%%

(A) leap year (B) normal year (A)Fﬂq?ﬂf (B) = Ty

(C) both (A) and (B) (D) none of these | (C) (A) 3R (B) T (D) Eﬂﬁ@f?ﬁ'ﬁcqﬁ
© ® ® © O,

7. Where is Mehrgarh located today? 7. ﬁBW Wﬁ?@lﬁ %?

(A) Uttar Pradesh (B) Andhra Pradesh (A) STR U= (B) 3T U

(C) Pakistan (D) China (C) UTfch & (D) T

® © O,

® © ©

8. At which level does a government work?
(A) Local level (B) National level
(C) State level (D) All of these

® © O,

8. PR P TR IR HTH Bl 22
(A) R R (B)wg’mw
(C) T TR (D) T gt

® © O,




9. On which level does Indian Government
take decision to maintain peaceful relation
with U.S.S.R.?
(A) Local level
(C) Central level (D) None of these

® © ®

(B) State level

9. HRd WRBR FHaad T° & A1 Aifaqo!

ey 99TC 7@ 31 fofg feg TR iR ad 82
(A) RIH &R (B) Ty TR

(C) P TR (D) 3TH Y IS &I
® © ©

10. Which type of government is chosen by
the people?

(A) Democratic Government

(B) Dictatorship

(C) Monarchy Government

(D) None of these @

® ®

10. {5 YR Dt ISR 4T GIRT g1 STl

o
(A) B diA® TWHR (B) ARG TRBR
(C) TTSTRTE T TRDR (D) STH Y HIs Aol

® © O,

11.In which state of India is there less distance | 11.HRd & fPg IST H @R Gﬁ??ﬁz_c'fa?maﬁ
between home and school? @W%"

(A) Kerala (B) Rajasthan (A) B (B) IR (C)HTs (D) Tt
(C) Mumbai (D) All of these @ @

® © ®

12. Name the first leader of India, who shared

12. HRd & U8 Adl &1 91¥ gd13¢, o=

his first experience of caste-based SArfa-SmyTid ‘ﬂ?{‘l-lﬁ DT AYATUgdll IJHT
discrimination? aret fear?

(A) Pt. Jawaharlal Nehru (A) UFSd STaTERATd 783 (B) TAIGTY SR

(B) Rabindranath Tagore (c) ST HIAG 3fdgH (D) FTH I BIS gl

(C) Dr. Bhim Rao Ambedkar e

(D) None of these @ . @ @

13. What is the name of the mosque that 13?1??%?%%@@@3?%@3
stood at the site of the Ram Mandir before its EFTTﬂ'F[TﬂT%?

demolition? a) STER} ARG b) SITHT ARG

a) Babri Masjid ¢) BB R Hide d) $GTTE ARG

b) Jama Masjid
c) Fatehpur Masjid
d) Idgah Masjid

® © ®

© O,

14. What divides the earth into two equal
parts. The northern hemisphere and the
southern hemisphere?

(A) Tropic of Capricorn  (B) Tropic of Cancer

(C) Equator (D) Arctic Circle

® ©  ©

14. Gl 1 g RIS YT | B fyufora
HYdl g1 I3 Maref 3R gferoft mensd?
(A) AR IET (B) b ¥l

(C) YA X (D) 3MThfed g

® © ©

15. When did Harappan cities develop?
(A)~ 4,700 yearsago (B) ~ 3,700 years ago
(C)~ 2,700 yearsago (D)~ 1,700 years ago

O,

15. SSWI G Hd [AH R T2
(A) ~ 4,700 T Ug (B) ~ 3,700 T USQ
(C) ~ 2,700 ITA USA (D) ~ 1,700 TS U5

® © O,




16. How many storeys of houses were

16. TSWT eI A 3MH R IR frd= Hivrell arat

generally found in Harappan cities? ‘EITTITQ\?I'I?[ U7
(A) One or two storeys (A) Wtﬂffﬂﬁl@f
(B) Four to five storeys (B) IR ¥ Ui Aot
(C) Multi storeys (C) SgHfSTa
(C%None ofte © o (D) 3TH Y IS ol
® © ©
17. From where did the Harappans get 17. mﬁu‘raﬁmwﬁﬁw Yr?
copper? (A)HE'SS (B)ﬁc_vﬁ (C) A (D) XTSI
(A) Mumbai (B) Delhi @
(é))KeraIa (D) Rajasthg)n @
18.Who is responsible for calling the meeting | 18.9TH H*ﬂﬂﬁéﬁ@ﬁﬁ”ﬁw
of Gram Sabha? mﬁ?ﬁ%’
(A) President of Gram Sabha (A) TTH JHT BT HeH&
(B) Panchs of Gram Panchayat (B) ITH U=Tad & Ud
(C) Secretary of Gram Sabha (C) YT JYT HT Ifg
(D) None of these (D) 379 § PIs Tal

® © ®

® © ®

19. What is the full form of BPL here?
(A) Bharat Petroleum Ltd

(B) Below Poverty Line

(C) Both (A) and (B)

(D) None of these

® © ®

19. J8T BPL BT [T AT FT 82
(A) YRd Ucifergd fafics

(B) TRI& v&1 ¥ =

(C) (A) 3R (B) Gl

(D) STH Y IS !

20. Who sculpted the idol (Murti) of Lord Ram
for the Ram Mandir in Ayodhya?
a) Ramesh Kumar b) K.K. Khandelwal
c) Ram Sutar‘ d) Suresh Sutar

(®

® © ®

20. RATEAT | I HiER & forT wra v 3t gfd
EREEEIFK
a) YO HUR b) .. WsddTd ¢) IH AR d) I R

®

PART-IV
CURRENT AFFAIRS

1) Who is the current President of India? 1) mm—cra?a?fqmwgqﬁraﬁq%?

A) Narendra Modi B) Droupadi Murmu | p) g HIdt B) ﬁuﬁ‘@i

C) Rahul Gandhi D) Amit Shah c)ﬂgﬂlﬂ?ﬁ D)G-I'&I?[Q‘I‘I‘s’
® © ® ® © ®

2) Which Indian city recently hosted the 2) mﬁﬁﬁﬂ[ ﬂ-m‘cﬂ'qwﬁ G20 RRER

G20- Summit? T B Qa1 D12

A) Mumbai
C) Bengaluru

®

B) New Delhi
D) Chennai

© O,

AHEE B Tsfell ) oIgE D) IS
® © ©




3. What is the name of India’s latest mission

3. IGHT IR HIRd & TdI-dH == o118

to the Moon? RS2

A) Chandrayaan-3 B) Mangalyaan-2 | 5) gggm-3 B) HITCTATH-2

Eg/ikram Mi;ion 5 D) Astrolr\(s)ia c) faspw forgm D) TSl
® ® © O,

4. Which Indian state is famous for the 'Statue | 4. HI- T R IT 'ﬁ'ﬂ&ﬁw l]:ﬁ'a' &

of Unity'? mmé7

A) Gujarat B) Rajasthan A) ORI B) XTSI

EZDKarnataka. @ D) Maha&Shtra Q) HAlcH D) T 3
®) ® © %

5. Which Indian cricketer recently scored the |5, o ﬁ-ﬂ?‘cﬂ'qﬁm?ﬁmﬁﬁw

fastest double century in One Day feata Wﬁﬁmaﬁm

Internationals? Wa:m:n%?

A) Virat Kohli B) Rohit Sharma | /) 1= Higah B) fgd =@l

C) Ishan Kishan D) Shubman Gill C) S fpge D) R’Jﬂ-ﬁ:l:fﬁa

® © O,

© O,

6. What is the name of the train connecting New
Delhi and Varanasi, known for its high speed?
A) Vande Bharat Express B) Shatabdi Express

C) Rajdhani Express D) Duronto Express

6. 5 fareelt 3R IRTURAT &1 g arelt ¢ 31

%?%,m‘rm%mw%maﬁ
NRIRITRGE o) VAT TR

® © ® C) ST TR D) ¥ TETIN
® © ®
7. Which city is known as the Silicon Valley of 7 mwaﬁ' Wﬂﬁﬁl‘ﬁﬁﬁ’:{ 5l a?

India?
A) Hyderabad B) Bengaluru C) Pune D) Chennai

® © O,

T A ST ST 872
A)BERETE  B)ITAS )0 D) I3

® © O,

8. Which Indian space agency launched the
Chandrayaan-3 mission?
A) NASA B) ISRO C) DRDO

® ©

D) SpaceX

O,

8. fpT yRdtg safver Toiddt 7 d5am-3
fore @t fopar?
A) TR B) IR C) SIRSIS D) WITH

® © O,

9. Which Indian sportsperson recently won the 0. mﬁﬁqm@?ﬁﬁ ﬂ-ﬂﬂTﬂﬁ?ﬁ
gold medal at the Asian Games in Javelin Throw? | fpq Wmﬁwmmp
A) Neeraj Chopra B) P. V. Sindhu A) TR AeT B) i ﬁ[ﬂ
C) Bajrang Punia D) Mary Kom . : v

C) FoRIT gfaT D) TR &1\
® © ® ® © ®
10. Which river is known as the 'Ganga of the | 10. mqiﬁaﬁ 'af&rurﬁﬁm' A
South'? ST ST 82
A) Krishna  B) Godavari C) Kaveri D) Yamuna | p) FHUT  B) Meras!  ¢)BIa D) AT

® © O,

® © O,




PART-V
BASIC REASONING

1.Ram and Sonia start from the same point.
Ram walks 8 km in the South direction, then
turns left and Walks for 7 km. Sonia walks 7km

1. 79 3R W1 v g1 fig | a1 3=
Hd ¢ | I Sfeur fa=m o s ft aean 8, fbr
914 g1 @ 3R 7 f garan @1 Sifrar g

the East direction, and turns left and walks for | fa=m & 7 fa5eit Terell 8, iR I Yol 8 3R 7
7 km. Now the Distance between Ram and ot gadt 81 3/ I iR AT & S 31
Sonia is...... km. T fee 2

(A)13Km  (B)18 Km (C)15Km (D)20Km | (a)13fh0 (B)18fH0 (c)15fH0 (D) 20 fH0
® © © |®

20f |+ |+ | =60And |+ @=25 296+ + =603 | |+ @=25
Find thevalueof  + | [+ @+9@ + @=? + |+ QP+ + @= BPIHMEIT

(A) 55 (B)58  (C)25 (D) 30 PHifoTg?

@ @ @ (A) 55 (B) 58 (C) 25 (D) 30

3.Insert the missing number in the following 3_% mﬁﬂ'ﬁmmﬁ
series: 16, 20, 18, 22, ?, 24
16, 20, 18, 22,?, 24 (A)20 (B)23 (C)26 (D)28

(A)20
(C)26 (D)28

® © O,

(B)23

® © O,

4.There is a certain relationship between the
pair of words given on either side of (::)

4. ()%aﬁ’r&ﬁ'\fﬁquaﬁﬁ%*
da v Ay ddu g1 fRE e ois & way

identify The relationship of the given pair and aﬁ-qgaﬁ ﬁ?ﬁmmﬁwm@
find the matching term: EGIK : LIHF :: SUWY : ?
EGIK : LIHF :: SUWY : ? (A)ZXVT (B)TVXZ  (C)LNPR (D) MOQS
(A)ZXVT (B) TVXZ (C)LNPR (D) MOQS @ @ @
5.How many rectangles are there in the figure 5:ﬂ%?ﬁ1‘|€ a-nqﬁ?[ﬁﬁo_cﬁ an'q?-r%'?
given below?

(A) 7 (B) 8 (C)9 (D) 12
» © © o ° ©
6. In a certain code language, “PILLOW” is 6. Wﬁ‘fﬁﬁaﬁg ‘l-n'lSIT'ﬁ', “PILLOW” B

written as “WOLLIP”, “CHAIR” is written as
“RIAHC”. Then “TABLE” will be written as:
(A)ELBAT (B)ELTAB  (C)BATLE (D)ABTLE

® © O,

“WOLLIP” ﬁ‘l@T IGI %, “CHAIR” a'ﬁ' “RIAHC”
for@r ST 8 1 Y “TABLE” B 59 UPR forat

SITET:
(A) ELBAT (B) ELTAB
(C) BATLE (D) ABTLE

® ©




7.Select the related number from the given

7.ﬁqwﬁwﬁﬁﬁﬁaﬁamm

® © ©)

alternatives: Tgq B

56:112::99:7? 56:112::99 :?

(A)198 (B)199 (C)196 (D)88 (A)198  (B) 199 (C) 196 (D) 88
® © © ® © ©
8.Find the odd one out of the options given 8=ﬂ%ﬁ‘qwﬁmﬁﬁﬁ'ﬂﬂﬁﬂﬁ
below: (A) ACDE (B)FHIl (C)KMNO (D) PQRS
(A)ACDE  (B)FHIJ (C)KMNO (D)PQRS @ @ @

9.Sara is the wife of Harry. George and Peter
are brothers. George is the brother of Harry.
How Is Peter related to Sara?

(A)Cousin (B)Brother

(C)Brother-in-law (D)Uncle

® © ®

9. HIRT g3t 1 Tl 2| Sifet 31X Ulex YIS ¢
St g PTHTS 2l v IRTA fraaRg A
Teferda g2

(A) TR 4TS (B) HTS
(C) SB% (D) =TT

® © O,

10.1f A means ‘+’, B means ‘-‘ C means ‘x’ and
D means ‘+’then18C14A6B16 D 4 =?
(A) 188 (B)238 (C)254 (D)288

® © O,

10.9fe¢ A BT 31+, B BT 3T - c BT 31 ¥’
MR DPTAHS A 18C14A6B16 D4 =?
(A)188  (B)238 (C)254  (D)288

® © O,

USE BACKSIDE OF THIS PAGE FOR ROUGH WORK!




